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Math 151/171 WEEK in REVIEW 2 Spring 2024
1. Given the vectors a =<1, -3 > and b=< —-3.4 >. Find

(a) The scalar and vector projections of a onto b

(b) The scalar and vector projections of b onto a ‘—_‘K’_—_} 59 ﬁ
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3. Find the distance between the parallel lines y = 20 + 3 and y — 22 = 9. WCQ
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4. Find a Cartesian equation for the following parametric curves. Sketch the curve.
(a) x=1—¢t3,y=1—-t, -1<t<1
(b) & =1+sint, y =2+ cost

(¢) ©=tant, y = cot? t,
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5. An object is moving in the ry-plane and its position after ¢ seconds is r(t) =< 1 + ¢, — 4 >.
(a) At what time is the object at the point (12,-1).
(b) Does the object pass through the point (4,8)7

(¢) Find an equation in x and y whose graph is the path of the object.
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6. Find a vector equation of the line containing the :1“"”-74“'-” andf3.-4). Lhe ?(k)-':;k: e‘\/°7*£ -
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7. Find parametric equations of the line passing through the point (-1.1) and parallel to the vector i'— 4.
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6it)7 are parallel,

8. Determine whether the lines r(t) = (—4 + 26)7+ (5 + )7 and r(t) = (2 + 3t)7 + (4
perpendicular or neither. If they are not parallel, find their point of intersection. vl
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9. Find the exact value of the expression.
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10. Simplify the expression

(a) tan (cos™!z)

(b) sin (tan™? ,::)
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